K& Gall)

5 - 5 (BE) 285 E
- = FERER IRIERE R By —~
No. K& FEM AR B (pe-TEQ/L) | (pe—TEQ/L) éli(lamﬁfﬁu%ﬁ@
pg-TEQ/L)
[IREI ZEIB 0.073
2 (&R HE)IXEB =B 0.081
3 [ZEA AT O EAE E = 0.071
4 |HFFRN FXIB 0.086
REZIN EENEHERER 0.41
[RE=EN PN 0.34
7 [F) ;B 0.19
8 [&RIJI 8B 0.19
9 [ERJI AAKE 0.22
10 [fE0A)I11 BB =it 0.067
11 %EJII *}ﬁ({g;}g‘ﬂ = 0.15
12 Bl KB 0.059 _—
13 [EFRIITR EFRIE 0.048 E:‘EE]E?JE 0.011~2.4
14 [FEEIILR EEE 0.038
15 |RZFITHER EFFIE 0.18
16 | AZFNEGR R 0.12
17 |28 WERE R 0.21
18 [#&)Il EHE 0.14
19 [FEH A ERE 0.14
20 |8 KP9t8 0.085
21 |=#ll FEMEETKE K O =)I18 0.12
22 |BAAJITFHR SIS = 0.39
23 |—DHII 25 0.32
24 |¥ER@JI EE1E 0.10
25 =& JbilE K E 0.12
Y OE 0.16
JKE (Eig)
= m 5 (BE)EM28EE
g, - = FEHER IRIER#E 2 ks 4ok B 2o ]
No. ki FEM A A FHE RS (oe-TEQ/L) | (pe-TEQ/L) @%ﬂﬁ%m%iﬂ
peg-TEQ/L)
1 |FEEEE T—6 0.070
2 @ E;Jﬁﬁj}j tB—1 0.069
3 |GEHIIR SEHIIIR 0.073 TF HE
4 | ESWE N =[] 0.072 Efﬂﬁ:;i:’yﬁ 0.014~0.47
5 [RHiiE P A 0.071
6 [FEDNAH F DI A 0.069
7| R ER Hu—5 0.069
SO S | 0.070




EE Gl

s - B (B2) FER28EE
3 = ﬁjﬁﬁﬁ% Lﬁiﬁgé =M -
NO. 7}@1% nﬂﬁiﬂ,‘f—i% (pg—TEQ/g) (pg—TEQ/g) é@nﬂ_ﬁ%ﬁ%%ﬁ@
(pg-TEQ/g)
1 [BEER)II BGER) 148 0.16
PREZ NI EE SRR ER 0.53
3 48511 A& 1.4
4 |F %J?JIME;S 0.23
CRE = T 02 1 oo yr | oosamsio
7 |#%)1 EHEB 0.16
8 [XFJIEFI[ELEE 0.51
9 [BAEITR [THEE 0.24
10 [ZAXI  [EXE 27
O OE 3.1




KB

= m 5 SE) F /K E3
No. AE A mawn| ATRE ) RRES é@?ﬁ%%%%r@h
1 [ ¥Ah & B 0.043 >
2 E—iﬁﬁéggg B oo 1 T 0.0073~37
4 |t EmATEE 0.014
£ o8 fE 0.034




+ 1 (—RIBIERE)

= = ; (&) ER28EE
I EINGET= 0.016
= H\FHET
g ‘Ejg;;éﬁggg BHAT 0966932 1,000 LR 0~130
4 |EWThERRRE 1.2
EOHOE 0.48
TIE (RERRDRAE) _
z I (BZ)ERH21FE
= s RAEHRER IRIGR#E z =
No. gl ,.'J—;_'\ B 2 o=
° AEH AEREH  orTea/n) | (peTEG/p) | ERAEIERIEE
1 |EADSHET 1.7
2 ?iJIIEﬂT1 0.47
4
2 E{%I%Lizkm )18 0693325 1,000 LI 0~210
5 |E@FmEHET 0.037
6 |5 H/ERET 0.13
EOHOE 0.45




